[image: image1.jpg]


[image: image2.jpg]


[image: image3.jpg]


[image: image4.jpg]


[image: image5.jpg]



[image: image6.jpg]


[image: image7.jpg]


[image: image8.jpg]


[image: image9.jpg]SERIAL #:W0902-120 - 001 ouT
PART #: SAMO0137

asmm—] = V', (W s=RIES 207V —
PATENTED

pr——
COVERED B ONE OR MORE OF THE FOLLOWING PATENTS
078

! 57843

'OTHER 8 PENDING INCLUDING
MADE IN MINNEAPOLIS, MN U.5.A.





[image: image10.jpg]


[image: image11.jpg]i
i

%] N

e oy

o i | | B S
“an




[image: image12.jpg]


[image: image13.jpg]



[image: image14.jpg]


[image: image15.jpg]



[image: image16.jpg]


[image: image17.jpg]



[image: image18.jpg]-




[image: image19.jpg]



[image: image20.jpg]



[image: image21.jpg]



[image: image22.jpg]


[image: image23.jpg]



[image: image24.jpg]



[image: image25.jpg]


[image: image26.jpg]



[image: image27.jpg]



[image: image28.jpg]


[image: image29.jpg]



[image: image30.jpg]


[image: image31.jpg]



[image: image32.jpg]


[image: image33.jpg]


[image: image34.jpg]


[image: image35.jpg]


[image: image36.jpg]



[image: image37.jpg]


[image: image38.jpg]


[image: image39.jpg]



[image: image40.jpg]



[image: image41.jpg]



[image: image42.jpg]



[image: image43.jpg]


[image: image44.jpg]



[image: image45.jpg]



[image: image46.jpg]


[image: image47.jpg]



[image: image48.jpg]



[image: image49.jpg]



[image: image50.jpg]



[image: image51.jpg]



[image: image52.jpg]


[image: image53.jpg]



[image: image54.jpg]


[image: image55.jpg]



[image: image56.jpg]



[image: image57.jpg]



[image: image58.jpg]


[image: image59.jpg]



[image: image60.jpg]


[image: image61.jpg]



[image: image62.jpg]


[image: image63.jpg]


[image: image64.jpg]



[image: image65.jpg]



[image: image66.jpg]


[image: image67.jpg]



[image: image68.jpg]


[image: image69.jpg]


[image: image70.jpg]


[image: image71.jpg]



[image: image72.jpg]



[image: image73.jpg]


[image: image74.jpg]



[image: image75.jpg]


[image: image76.jpg]



[image: image77.jpg]


[image: image78.jpg]



[image: image79.jpg]



[image: image80.jpg]



[image: image81.jpg]


[image: image82.jpg]



[image: image83.jpg]


[image: image84.jpg]



[image: image85.jpg]



[image: image86.jpg]



[image: image87.jpg]


[image: image88.jpg]



[image: image89.jpg]



[image: image90.jpg]


[image: image91.jpg]



[image: image92.jpg]



[image: image93.jpg]



[image: image94.jpg]


[image: image95.jpg]



[image: image96.jpg]


[image: image97.jpg]



[image: image98.jpg]


[image: image99.jpg]



[image: image100.jpg]


[image: image101.jpg]


[image: image102.jpg]


[image: image103.jpg]



[image: image104.jpg]


[image: image105.jpg]



[image: image106.jpg]


[image: image107.jpg]


[image: image108.jpg]



[image: image109.jpg]



[image: image110.jpg]



[image: image111.jpg]



[image: image112.jpg]



[image: image113.jpg]


[image: image114.jpg]


[image: image115.jpg]


[image: image116.jpg]



[image: image117.jpg]


[image: image118.jpg]


[image: image119.jpg]


[image: image120.jpg]



[image: image121.jpg]



[image: image122.jpg]


[image: image123.jpg]


[image: image124.jpg]



[image: image125.jpg]



[image: image126.jpg]



[image: image127.jpg]



[image: image128.jpg]



[image: image129.jpg]



[image: image130.jpg]



[image: image131.jpg]


[image: image132.jpg]



[image: image133.jpg]


[image: image134.jpg]



[image: image135.jpg]


[image: image136.jpg]






























































�





�





			AV14


			Vac Motor 5.7” 3 Stage – 115vac


			Olympus: M3-200, M3-200H,


			 M3-500 & M1200








AV010


			Vac Motor 5.7” 2 Stage – 115vac


			Olympus: M100, M100H, M200,


			M200H, M500H & M1200








Bridgepoint Parts Catalog 	 		


Section XXXV: Olympus Portable Parts					Page 1





�





�





			AV16


			Vac Motor 5.7” 3 Stage – 230vac


			Olympus: 230 volt M3-200, 


M3-200H, M3-500 & M1200








AV012


			Vac Motor 5.7” 2 Stage – 230vac


Olympus: 230 volt M100, M100H, M200, M200H, M500H & M1200








�





			NM5018


			Vac Ducting 3” x 18”


			Olympus Portables








�





			PA010


			Gasket Vac Motor 5.7”


			5/8” Thick – Two side Adhesive


			Olympus Portables








			NM5015


			Grate – Vac Exhaust 4” Oval


			Olympus Portables








�





�





			NM5050


			Vac Hose 1-1/2” 


			Wire Reinforced – per Inch


			Vac Motor Connections	








			AP52


PUMPTEC #207V Pump


Olympus: M500H & M3-500


Repair Parts:


Pump without motor:	PT065


Kit A plunger & seals:	PT054


Kit B valves & o-rings:	PT055


Kit C cam & bearing:	PT056


Motor:			PT066








�





			NM5041


			Elbow 90° 1-1/2” ABS


			Vac Hose Connector


			Rivets: NM5025





�





�





			NM5037


			Float & Filter Cage Assembly


			Olympus Portables








			AP50


			PUMPTEC #114T Pump


Olympus: M200, M200H, M3-200 & M3-200H


Repair Parts:


Kit A plunger & seals:	PT022


Kit B valves & o-rings: 	PT051


Kit C cam & bearing:	PT030


Motor:				PT061


Pump without motor:		PT050


Kit Pump, Regulator, Hoses & Fittings:		NM5067








�





			AP25


			FloJet D1635J7012


Olympus: M100 & M100H


			Repair Parts:


Demand Switch:	PF02090-120


Upper Housing:	PFDH32V701


Valve Chamber:		PF20914-002A


Cam & Diaphragm Kit:	PF21006-033A





AP27 – 230V VERSION OF AP25





�





			AP48


			PUMPTEC #356U Pump


Olympus: M1200


Repair Parts:


Motor:			PT059


Pump without motor:	PT058


Kit A plunger & seals:	PT042


Kit B valves & o-rings:	PT044


Kit C cam & bearing:	PT046


Kit Pump, Regulator, Hoses, Gauge & Fittings:	NM5057











			AP49


PUMPTEC #205V Pump


Olympus: M500H & M3-500


Repair Parts:


Pump without motor:	PT057


Kit A plunger & seals:	PT054


Kit B valves & o-rings:	PT055


Kit C cam & bearing:	PT056


Motor:			PT060


Kit Pump, Regulator, Hoses, Gauge & Fittings:	NM5048




















		


			








�





�





			PT021


			Pressure Regulator – 500psi


			Silver Spring


Olympus: M3-500 & M500H


			Rebuild Kit: PT020A


			SS Seat: PT020S


Bottom Bracket: PT021C


Top Bracket: PT021D








�





Bridgepoint Parts Catalog 


Section XXXV: Olympus Portable Parts					Page 2








	PT048


			Pressure Regulator - 200 psi


Pumptec 114 – Force 250


			Olympus: M200, M200H & 


M3-200 & M3-200H


Used as pressure relief valve on Olympus M100H


Repair Kit: PT048A


	


			 








�





			PT016


			Pressure Regulator 1200psi


			Olympus: M1200


Repair Kit: PT016A








�





			PPU6175


Strainer Inline – 1/2” Barbs


			Old Style Olympus Extractors





�





Replaces old PT019








 			PCE290-08


			Acorn Strainer – 1/4” FPT


Olympus: M100, M100H, M200, M200H, M3-200 & M3-200H





			PT017


			Pressure Regulator 1200psi


			Olympus: MX1200


			Seal Kit: PT017KIT


			Knob: PT017KNOB


Bottom Bracket: PT017C


Top Bracket: PT017D








�





�





�





PP14-806504


			Strainer Acorn 3/4”


			M500H, M3-500 & M1200


	





			PT017B


			Pressure Regulator 500psi


			Olympus: MX500


Seal Kit: PT017KIT


			Knob: PT017KNOB


Bottom Bracket: PT017C


Top Bracket: PT017D








�





			NM5080


			Prime Hose Assembly








�





�





			NM5082


			Hose – 3/8” ID Clear Coil








�





			NM5450


			Snap Clip – Olympus Float





			NM5086


			Hose – 1/2” ID Clear Coil








�





�





			NM5452


			Connector Bead Chain


 Olympus Float





�





			AH90


			Hose – 3/8” ID LP Gray








			NM5055


			Float Valve Assembly


			With Chemical Metering 				New Style


			Olympus Auto-Fill


Metering Tip Kit: PDE001


			Chain w/connector: PDE34-17


			Float: PHY005-003


			Filter / Check Valve: PDE100-11P


			Proportioner: PDE61-22-3


			Valve Repair Kit: PDE63-87


			Float Hanger Wire: PDE35-42


			Float Hanger Clip: PDE35-12





			 








�





 			AH79CF


			Hose – 1/4” Hydro-Coil HP Gray








�





�





			PEA11


			Gate Valve 1-1/2” MPT


			PVC – Black


Olympus Portables


Repair Parts:


45° Elbow:	NM5079


Gasket: 		NM3019	Plastic Handle- Black: PCE120-07


Metal Handle – Cast: 	PA5112








 			NM5009


			Power Cord 12/3 x 2’


			with male end





�





NM5060


			Rocker Switch – 3 Way


115VAC - DPDT


			Olympus Portables








Bridgepoint Parts Catalog 


Section XXXV: Olympus Portable Parts					Page 3





�





�





			AX32


			Power Cord 12/3 x 25’





�





NM5008


			Rocker Switch - 115VAC


			DPST


			Olympus Portables








�





			AX33


			Power Cord 12/3 x 50’





			NM5007


			Plate – Control Panel Switches			3 hole - Olympus Portables





�





			NM5038


			Strain Relief – Power Cord Grip


			Black Plastic





			NM5039


			Nut – Strain Relief for NM5038








�





NM5065


			Plate – Control Panel Switches			4 hole - Olympus Portables








�





�





Olympus Switch Plate Stickers	


			NM5070:	M100


			NM5071:	M100H


			NM5072:	M200


			NM5073:	M200H


			NM5074:	M3-200


			NM5075:	M3-200H


			NM5076:	M500H


			NM5077:	M3-500


			NM5078:	M1200		


			NM5084:	M3-100H





�





			NM5046


			Cord Clamp








�





�





NM5051


			Strain Relief – Water Tight


			Black Plastic 3/8” NPT


			


			Nut: NM5239B





�





�





�





			NM5064


			Plastic Insert – M1200





�





NM5043


			Heat Exchanger – Electric


			Single Element – Dual Thermostats


			1750 watt


Olympus: M100H, M200H & M500H








�





			NM5066


			Flat Washer 1/4” SS








	NM5044


			Heat Exchanger – Electric


			Dual Elements – Quad Thermostats


			2000 watt


			Olympus:  M3-200H


 			











�





�





			NM5085


			Screw 10-32 x 1” SOCHD CS








�





PA231


			Nut 10-24 Hex


			











�





NM5083


			Heat Exchanger – Electric


			Single Element – Dual Thermostats


			1000 watt


Olympus: M3-100H 

















PA233


			Screw 10-24 x 1” Flat Head


			

















			NM5047


			Screw 10-24 x 4”

















Bridgepoint Parts Catalog 


Section XXXV: Olympus Portable Parts					Page 4








�





�





			NM5042


			Adapter 1-1/2” MS x 1-1/2” MPT


			ABS





			NS120


			Latch - 	Olympus Portables			


			 








�





			NM5036


			Pipe 1-1/2” x 17” ABS





�





 			NS121


			Latch Hook - Olympus Portables		





			NM5081


			Adapter 1-1/2”FPT x 1-1/2” FS





�





�





			NM5023


			Screw 8-32 x 3/8” SS


			Button Head





			PA029


			Pipe 2” ABS – Sold per inch





�





			NM5024


			Screw 8-32 x 3/8” SS


			Socket Head





�





			NM5002


			Wheel – Rear


			Olympus Portables





�





�





			NM5012


			Screw 1/4-20 x 1/2” Hex Head





�





			NM5003


			Castor – Front Wheel


			Olympus Portables





�





			NM5034


			Screw 1/4-20 x 1” Hex Head








�





			NM5014


			Lock Washer – Caster 





�





			NM5013


			Hinge Post





�





			NM5032


			Flat Washer #8 SS 





�





			NM5026


			Hinge Retaining Clip





 			NM5011


			Axle – Rear Wheels		


			Olympus Portables








�





�





 			NM5027


			Bracket Sol/Rec Tank





�





 			NM5010


			Cap - Axle Olympus Portables








�





 			NM5028


			Screw 1/4-20 x 1/2” Soc HD SS





PA187


			#10 Sheet Metal Screw 5/8” SS 


			Pan Head slotted

















			NM5029


			Screw 10-32 x 5/8” Soc HD SS














�





�





�





			NM5045


			Screw 10-32 x 1/2” Self Tap SS











			NM5030


			Flat Washer 1/4” - Black








�





�





			NM5033


			 Washer Motor Manifold Bolts








			NM5031


			Screw 1/4-20 x 1” Soc HD SS








Bridgepoint Parts Catalog 


Section XXXV: Olympus Portable Parts					Page 5








�





BR325


			Cap – Garden Hose Brass





	


			 








NM5053


Little Giant Pump-out Pump


			Olympus Portables


Submersible Pump 120VAC 


5AMPS – 1/6HP











�





�





BR600


Washer – Garden Hose Rubber	





	


			 








NM5054


			Float Switch – Straight Shaft


			Olympus Portables











�





�





			NM5052


			Check Valve 3/4” Brass


			Swing Gate Valve








�





�





			BR319


			Fitting 3/4” MGH x 3/4” MPT


			Brass





			BR281


			Elbow 90° 1/8” MPT x 3/8” Barb


Brass








�





�





			BR048


			Barb 3/4” x 3/4” MPT Brass


			





			BR282


			Elbow 90° 1/4” Street M-F


Brass





			





�





�





			NM5068


			Tube Assembly 1-1/2” OD ABS








			BR284


			Elbow 90° 3/8” Street M-F


Brass


			





			NM5056


			Hose 3/4” Water – Black


			








BR297


			Elbow 90° 1/8” MPT x 1/4” FPT


Brass








�





�





�





�





 			BR028


			Barb 1/2” x 1/4” MPT Brass





			NM5005


			Vac Hose Barb – 1-1/2” Barb


			1-1/2” MPT - Plastic





 			BR030


			Barb 1/2” x 3/8” MPT Brass








�





�





			AH69


			Barb 2” x 1-1/2” MPT Plastic





�





 			BR022


			Barb 3/8” x 3/8” MPT - Brass


			








 			AH42


			Hose Cuff 1-1/2”








�





�





�





			BR333


			Connector - Brass


 3/4” FGH x 3/4” Hose Barb





			BR224


			Plug 3/8” MPT Brass














			AH17


			Foam Downer Assembly – 2”


		








�





�





			NM5087


			Bulkhead Fitting 1/4” Brass








Bridgepoint Parts Catalog 


Section XXXV: Olympus Portable Parts					Page 6








�





�





�





�





�





�





�





�





�





�





�





�





�





�





			XAF02


			Hose End 1/4FT


			For 1/4” ID Steel Braid Hoses 








			XAF01


			Hose End 1/4” MPT


			For 1/4” ID Steel Braid Hoses 





AH102B


			1/4” Male Quick Connect


			Brass – Hydro-Force Brand








AH101B


			1/4” Female Quick Connect


			Brass – Hydro-Force Brand








			NM5098


			Bulkhead Fitting 3/8” Brass


			M500H, M3-500 & M1200








BR302


			Adapter 1/4” MPT x 1/4” Comp


			Brass





BR126


			Adapter 1/4” MPT x 1/4T Brass





BR198


			Bushing 1/2” MPT x 1/4” FPT


			Brass





			BR192


			Bushing 3/8” MPT x 1/4” FPT


			Brass








BR252


			Tee 1/4” Street M-F-F Brass











			BR130


			Nipple Hex 1/4” x 1/8”	Brass





			BR132


			Nipple 3/8” x 1/4” Hex Brass





			BR082


			Nipple Close 1/4” Brass





			BR072


			Nipple 1/4” Hex Brass


			





			NM5096


			Priming Valve – HP Pumps


			Olympus Portables


			Repair Kit: NA0842


			Valve only: NA0945





�





			AP120 Hydro Force 


120PSI Demand flow – 1.30 GPM - 115VAC motor – 1.0amp Diaphragm


			Pressure Switch:		PAQ01


Kit Upper Housing:	PAQ03


Kit Valve Housing:	PAQ04


Kit Lower Housing: 	PAQ05








�





�





			NM5088A


			Circuit Board – Breaker Buddy


			Potted





			PA110


			Elbow 90º 3/4” MPT X 3/4” Barb


			Nylon





�





			NX201


			Breaker Buddy Green Light


			Olympus M1200








�





Bridgepoint Parts Catalog 


Section XXXV: Olympus Portable Parts					Page 7








�





NM5105


			Circuit Breaker 5amp  








�





NM5110


			Circuit Breaker 10amp  











NS177


			Fuse Body


			Omni Pro Sprayer








�





PHY018-005


			Circuit Breaker 20amp  











�





PLF-AGC10


			Fuse 10amp AGC 








�





PLF-AGC20


			Fuse 20amp AGC 








�





1/4 x 1-1/4”








1/4 x 1-1/4”








�





PT062


			Pressure Gauge 600PSI


			1/4” MPT – Panel Mount 


			2-1/2” Diameter


			Olympus: M500H & M3-500








�





NM5059


			Gasket – Waste Tank Lid


			Olympus Portables


			Seal between Lid Assy & tank.








�





NM5004


			Lid Assembly – Waste Tank


			Olympus Portables


			O-ring Lid Seal: NM5004A








			PT063


			Pressure Gauge 2000PSI


			1/4” MPT – Panel Mount 


			2-1/2” Diameter


			Olympus: M1200








�





�





NM5447


			Box Relay Enclosure


			Olympus M1200HIL	








�





PT064	


			Pressure Gauge 1000PSI


			1/4” MPT – Panel Mount 


			2-1/2” Diameter


			Olympus: M500H & M3-500








�





			NM5448


			Cover Relay Box w/ Gasket


			Olympus M1200HIL	

















PT070


			Pulse Hose – 3/8” M x 3/8” MS


			32” Long – Olympus M1200


			Pump to Pressure Regulator





�





PHY157-031


			Float Switch – Low Water


			Olympus M1200HIL	





NM5078HIL


			Decal Switch Plate


			M1200HIL














�





			NM4407


			Power Cord w/ GFCI 120V


12/3 x 50’


			E-TES 120 & M1200HIL











�





NM4451


			Relay DPST 120V


			Olympus M1200HIL











